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Question No.1 Marks: 1.00
Bookmark
Who authored "The Last Maharani of Gwalior" (an autobiography with Manohar
Malgonkar)?

e gRT "aTferR @ Sifar HERM" (e A TIad: & 1Y T D) fordt 18 82
A) O ;ﬁ%a Dube (Chosen option)

(B) O Leena Yadav
T gred
(C) O Vijaya Raje Scindia (Correct Answer)
Riferar
(D) O Girija Vyas
[

Question No.2 Marks: 1.00
Bookmark
Brahmotsavam festival is celebrated in which of the following states of India?

Felead Ud YR & Fafefed # 9 fy s & 9= S 82
(A) O Andhra Pradesh (Correct Answer)
ST Y=
(B) O Kerala
DR
(C) O Maharashtra
HeRTY
(D) O Madhya Pradesh (Chosen option)
A U

Question No.3 Marks: 1.00
Bookmark
In which year was the District Cricket Association of Sagar formed?
IR 1 e fobobe Ty fovdt af a=mam 7 o7
(A) O 1955 (Chosen option)
1955

(B) O 1954
1954

(C)O 1952
1952

(D) O 1953 (Correct Answer)
1953

Question No.4 Marks: 1.00
Bookmark
Roop Singh Stadium in Gwalior, Madhya Pradesh, is associated with which of the
following sports?

A YW & WiferR # ¥U Rig wiegn Fufafea § 3 f5g ga T ¥efid g2
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(A) O Hockey

(B) O Cricket (Correct Answer) (Chosen option)

(C) O Tennis
GER!

(D) O Badminton

Question No.5 Marks: 1.00

Bookmark
Shamla and Idgah hills are located in which of the following places in Madhya Pradesh?

AT 3R SeiTe ygifedt e vewr § Fufafad ¥ fog M R fRua g2
(A) O Jabalpur

SENEN
B) O Indore

(C) O Bhopal (Correct Answer) (Chosen option)
yiare

(D) O Gwalior
qTeRR

Question No.6 Marks: 1.00

Bookmark
Who has been conferred the award for Coach of the Year at the FICCI India Sports
Awards 20207

foraa! &1 T 3/argy 2020 T H1 3 g $IR T REGR I 68 Jurfd a1 82
(A) O Pullela Gopichand

(B) O Rahul Dravid
NERELE

(C) O Radhakrishnan Nair (Correct Answer) (Chosen option)
RTYTP W TR

(D) O Cyrus Poncha
BIEERIE

Question No.7 Marks: 1.00
Bookmark
In which year was 'Dyarchy' introduced in India?
YR | TG & aid forg avf & g5 o2
(A) O 1930
1930
(B) O 1909 (Chosen option)
1909
(C) O 1929
1929

(D) O 1919 (Correct Answer)
1919

Question No.8 Marks: 1.00

Bookmark
Who was the first Chief Election Commissioner of Independent India?

WA HRA & TYH T AT 3 B A2
(A) O Nagendra Singh
s g
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(B) O K.V.K Sundaram
& d1.&. Yaxd

(C) O S.P. Sen Verma
T 9 gt

(D) O Sukumar Sen (Correct Answer) (Chosen option)
PR A4

Question No.9 Marks: 1.00

Bookmark
Who was the first Indian actress to be awarded the prestigious Padma Shri Award?

Tfyd U ot ISR ¥ T g9 aTelt Ugelt HRdH i 3 e
(A) O Waheeda Rehman (Chosen option)
NgHMH

(B) O Nargis (Correct Answer)

(C) O Rekha
e

(D) O Asha Parekh
SR

Question No.10 Marks: 1.00

Bookmark
Majuli Island in India is located on which river?

YRd H A1gelt €0 fea 7 R R 82
(A) O Ganga
T
(B) O Indus
Ry
(C) O Godavari
RIEER]

(D) O Brahmaputra (Correct Answer) (Chosen option)
SeHYAT

Question No.11 Marks: 1.00

Bookmark
The First Honey FPO, Shahad Utpadak Sahakari Samiti, has been set up in which of the
following states of India?

?ﬁuﬂéﬁgmaﬁ, T6C SAIGH JebRI JAfd, HRd & HafeRad d @ fog Isu § wiftd
?
(A) O Madhya Pradesh (Correct Answer) (Chosen option)

H

(B) © Tamil Nadu

(C) O Maharashtra

HeRTY
(D) O Gujarat

Question No.12 Marks: 1.00

Bookmark
Which gas was the major propellant of the Bhopal Gas Tragedy 19847

HIOTe T ARICT 1984 FT UHW TG SRS 1 HiA-4 o2

(A) O Methyl isocyanate (Correct Answer) (Chosen option)
forursa

(B) O Methyl trichloride
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DI ESRAEENINES]
(C) O Isoamyl acetate
(D) O Propionic acid
3T
Question No.13 Marks: 1.00
Bookmark
Which of the following rulers did Rani Avantibai marry?
I SrdcitaTs A Fafiad 8 4 forw wmae 9 faarg fasan ure
(A) O Chandragupta Maurya |
TS AT |
(B) O Bindusara (Chosen option)
(C) O Vikramaditya Lodhi (Correct Answer)
fasparfeea aeht
(D) O Raja Bhoj
NEIRIE!
Question No.14 Marks: 1.00
Bookmark
Which of the following has been conferred the award for Best Company Promoting
Sports (Public Sector) in the FICCI India Sports Awards 20207
frofafed 3 3 il e Sfea Wy s@arsy 2020 & W (WSS &) HI dgrdl g
arelt gd9y Ut F R REBR fear mar 2
(A) O Board of Control for Cricket in India (BCCI)
YR fbdhe deid aIS (SRiefs)
(B) O Athletics Federation of India (AFI) (Chosen option)
YR Tydifeay Agry
(C) O Air Force Sports Control Board (AFSCB) (Correct Answer)
I @ 0 1S (TumTasiie)
(D) O Badminton Assomahon of India (BAI)
YR dSfHies 99 (SSftied THIReRH it 3fean)
Question No.15 Marks: 1.00
Bookmark
In which of the following places did Rani Durgavati die?
I giTialt @t g Fafaried § ¥ fod wM W gs 2
(A) O Bhopal
HIgre
(B) O Gwalior
TqTIeRR
(C) O Jabalpur (Correct Answer) (Chosen option)
SIdeiqr
(D) O Indore
Question No.16 Marks: 1.00
Bookmark
Which is the apex body which released the India Innovation Index Report 20207
I8 Y e (Tiers sTh S-3 § vrm YRd AR Jadsis KA 2020 S @12
(A) O National Institute of Public Finance and Policy
P Tl ot Td Fifd dwm
(B) O National Development Council
RIS fdepr uRyg
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(C) O National Human Rights Commission
RIS HHATEIBR SN

(D) O NITI Aayog (Correct Answer) (Chosen option)
ifa smarT

Question No.17 Marks: 1.00
Bookmark

Who among the following has been conferred the Padma Shri Award 2020
posthumously in the field of Social Work who was touted as the voice of the Bhopal Gas

Tragedy victims?
frafoRad & 9 fod IS &1l & 89 8§ IRoTRId Us1e QRESR 2020 § w1 fBar
T 8, forg HiuTet 19 A<l & TfSal & 3marst & &9 H ST 1T UT?
(A) O Bimal Kumar Jain
e FUR oA
(B) O Sathyanarayan Mundayoor
IR R
(C) O M. K. Kunjol (Chosen option)
Tq.&. polld

(D) O Abdul Jabbar (Correct Answer)

Seg ¢l ST
GENERAL HINDI - GENERAL HINDI

Question No.1 Marks: 1.00
Bookmark
"3 Ugd T3 7Y fased! & § frads Iy uged el gof 872
(A) O gdH
(B) O f&&g (Correct Answer) (Chosen option)
(C) O =@M

(D) O g™

Question No.2 Marks: 1.00

Bookmark
Y9 B fF orTal e Brgfa A, A s U
Ig a1 forg F1at & 9 gl 82

(A) O FHTT YdbTd
(B) O TgRHg HAPbTeT
(C) O TqgeqHg Ufd=q BT (Correct Answer) (Chosen option)

(D) O ¥YIeg Hfawq HTd

Question No.3 Marks: 1.00
Bookmark
fafoad # ¥ SH-11 Weg ‘BRY &1 dad U 82
(A) O &Had
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(B) O TSl (Correct Answer) (Chosen option)

(C) O B

(D) O &R

Question No.4 Marks: 1.00

Bookmark
3M1ed fort X T RITR U1 BT 82

(A) O 3IgYd I (Correct Answer) (Chosen option)

(B) O »H2uryd

(C)O YIR™

(D) O @™

Question No.5 Marks: 1.00

JHd Afed A9 &9 |
St 9y 3 I
T Ufad # S1H-91 3IAHR 82

(A) O ¥Ral

Bookmark

(B) O e
(C)O qr

(D) O =uTE (Correct Answer) (Chosen option)

Question No.6 Marks: 1.00
Bookmark

=7 U fou T faswed # 9 forg & Ty Uged 1 9T 82
(A) O wafdf| (Correct Answer) (Chosen option)

(B) O Wift=

(C) O wfgmn

(D) O wife

Question No.7 Marks: 1.00

fFrafifad & & -1 Tea Hebioh 1 fawdanie g2

Bookmark

(A) O fawftof (Correct Answer) (Chosen option)

(B) O wH
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C)O =g

(D) O gau

Question No.8 Marks: 1.00

. Bookmark
Bl & IHTH-U 354 3, fhe ¥ Fle 3™ & 3l
3 TS Ufdd | P-91 3R 82

(A) O sffa=aifad siddR
(B) O fau=ifek sfeibR
(C) O 3rifaT 3[@®R (Correct Answer) (Chosen option)

(D) O WHEIF 3R

Question No.9 Marks: 1.00
Bookmark
T-IGT S Xeg TH 6 a1 &7 9E 82
(A) O 3ffegaras gdamH
(B) O Uyaras -
(C) O fygaras gdaH

(D) O Weydra® Jd-T (Correct Answer) (Chosen option)

Question No.10 Marks: 1.00

Bookmark
I R ST Agd & fore 3T 78l &
feu U 9T H MR Wsg T B?

(A) O furd
(B) O fawrare dyw
(C) O Wg=ag Sy (Chosen option)

(D) O HeEYdIY® (Correct Answer)

Question No.11 Marks: 1.00
Bookmark

%8 JAN & ISTER0T ‘HFA-IT Ve | HIH-I1 Aol g e g3 82
(A) O 3ryar

(B)O
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(C) O 3R (Correct Answer) (Chosen option)

(D) O arufd

Question No.12 Marks: 1.00
Bookmark
AT 3R JATaRT & g BT IHT’ & oY Th e 1 82
(A) O ag: af (Correct Answer) (Chosen option)
(B) O gt
(C) O =

(D) O qrgaqd

Question No.13 Marks: 1.00
Bookmark
YT DT UIaT 8-
(A) O &Igda
(B) O eer
(C) O T (Correct Answer)

(D) O @I (Chosen option)

Question No.14 Marks: 1.00
Bookmark
fafeiaa & ¥ eH-ar fgor <o 82
A)O &
B)O =
©) O &

(D) O $ (Correct Answer) (Chosen option)

Question No.15 Marks: 1.00

Bookmark
Yy 9o % TR W =fed Bl 7, Safes T @ guf A & forg 3fra
fam e &1 999 BY)

(A) O HEmaft % wR W °fed g |
(B) O wgradl ud HgTar! & fawr a1 gl
(C) O gl & TR W "gfed 81T 81 (Correct Answer) (Chosen option)
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Question No.16 Marks: 1.00
Bookmark

TR Gedt & T 3@ aTer & e U Weg 1 82
(A) O drdwpIierd

(B) O wdagrdt
(C) O [rd e (Correct Answer) (Chosen option)
(D) O wrdgRra

Question No.17 Marks: 1.00
Bookmark
3T TR URR UST YTk &1 T 31 §-
(A) O gf& Y¥ BT (Correct Answer) (Chosen option)
(B) O gIRAR s

(C) O SR B

(D) O gfgar g

GENERAL ENGLISH - GENERAL ENGLISH

Question No.1 Marks: 1.00

Bookmark
Fill in the blanks with the suitable tense in the given sentence:

The old woman promised that she hospital until she completely.

(A) O wouldn’t leave , would recover
(B) O would not leave , recovered (Correct Answer) (Chosen option)
(C) O didn't leave , was recover

(D) O doesn’t leave , was recover

Question No.2 Marks: 1.00

Bookmark
Fill in the blank with a suitable preposition in the given sentence:

Fiction is a narrative which is made up the author.
(A) O through
(B) O with

(C) O by (Correct Answer) (Chosen option)
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(D) O from
Question No.3 Marks: 1.00
Bookmark
Out of the following, identify the incorrect sentence.
(A) O Most of tea sold in America comes from the India. (Correct Answer)
(Chosen option)
(B) O Every student has to take the preliminary test.
(C) O Beena is my sister's best friend.
(D) O The principles of science are difficult to understand.
Question No.4 Marks: 1.00
Bookmark
Fill in the blank with the correct determiner in the given sentence:
The train ride was terribly long and the passengers looked bored at the end of
the journey
(A) O little
(B) O every
(C) O all (Correct Answer) (Chosen option)
(D) O fewer
Question No.5 Marks: 1.00
Bookmark
Fill in the blank with the correct word in the given sentence:
Mrs. Thomas along with Mrs. Jacob volunteer work.
(A) O do
(B) O will doing
(C) O does (Correct Answer)
(D) O have been doing (Chosen option)
Question No.6 Marks: 1.00
Bookmark
Fill in the blanks with the suitable article in the given sentence:
| saw very bright starin ____sky few nights ago.
(A) O the, the, a
(B) O a, no article, the
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(C) O a, the, a (Correct Answer) (Chosen option)
(D) O a, aa
Question No.7 Marks: 1.00
Bookmark
Fill in the blank with the suitable tense in the given sentence:
The toddler silly questions until my patience finally ran out.
(A) O has kept asking
(B) O was kept asking (Chosen option)
(C) O kept asking (Correct Answer)
(D) O had been kept asking
Question No.8 Marks: 1.00
Bookmark
Choose the option that best combines the given sentences.
Undertake a journey. Journey into wilderness. Fall in love with nature.
(A) O Undertaking a journey into wilderness and fall in love with nature.
(B) O Undertake a journey, a journey into wilderness to fall in love with nature.
(C) O Undertake a journey with wilderness but make sure to fall in love with nature.
(D) O Undertake a journey into wilderness and fall in love with nature. (Correct
Answer) (Chosen option)
Question No.9 Marks: 1.00
Bookmark
Choose the option that shows the correct change in voice for the given sentence:
She will be received by the secretary upon arrival.
(A) O The secretary will receive her upon arrival. (Correct Answer) (Chosen
option)
(B) O Upon arrival, she will be received by the secretary.
(C) O Someone will receive her upon arrival.
(D) O She will receive the secretary upon arrival.
Question No.10 Marks: 1.00
Bookmark
Fill in the blank with the correct conjunction in the given sentence:
it stops raining cats and dogs, | can't reach office.
(A) O Even

mppeb_kkkv.onlineregistrationform.org:8660/QP1/eTwogTY SaJ54Wze+A6kleQ==.html 11/53


https://applink.adda247.com/d/XhqWf9lSap

Adda247

2/17/2021 View Question Paper
(B) O However

(C) O When

(D) O Unless (Correct Answer) (Chosen option)

Question No.11 Marks: 1.00
Bookmark

Out of the following, choose the word with the incorrect spelling.
(A) O Succeed

(B) O Undoubtly (Correct Answer)

(C) O Experience

(D) O Concurring (Chosen option)

Question No.12 Marks: 1.00
Bookmark
Choose the option that best fills in the given sentence:

You don't like commitment in relationships, ?
(A) O don'tyou
(B) O do you (Correct Answer) (Chosen option)

(C) O didn't you

(D) O did you
Question No.13 Marks: 1.00
Bookmark
Fill in the blanks with the suitable preposition in the given sentence:
The train stopped ____ all the stations and long before we got ___ London every seat
was taken and people were standing ___ the corridors.
(A) O at, to, in (Correct Answer)
(B) O to, at, in
(C) O at, in, on (Chosen option)
(D) O in, to, at
Question No.14 Marks: 1.00
Bookmark

Fill in the blank with the correct form of the verb in the given sentence:

The allies to the demands of the fallen countries.

(A) O acceded (Correct Answer) (Chosen option)
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Question No.15 Marks: 1.00
Bookmark
Parts of the sentence have been underlined, choose carefully from the options below to
improve the sentence structure.

The Kisan Andolan is going to fizzle out finally.
(A) O fizzle out really

(B) O fizzle out initially (Chosen option)

(C) O fizzle out eventually (Correct Answer)

(D) O fizzle out

Question No.16 Marks: 1.00
Bookmark
Choose the correct sequence of the sentences given below to construct a meaningful
paragraph.
i. They keep wandering from place to place and have no permanent home.
ii. They even eat tied-up farm animals.
iii. They march in columns, like a big army.

iv. The ‘driver ants’ of Africa are very fierce.
v. As they march along, they eat up any living thing that comes their way.

(A) O i, v, iii, iv, i
(B) O v, iii, v, ii, i (Chosen option)
(C) O i, iii, i, iv, v

(D) O iv, i, iii, v, ii (Correct Answer)

GENERAL MATHS - GENERAL MATHS

Question No.1 Marks: 1.00
Bookmark
Solve:
2
+—=235

x—1 y+2

4 B i _9
x—1 y+2
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EEl EZe
3 Z
o B, =5
-1 “y+2
L
-1 y-bid
(A) O x=2,y=-1(Correct Answer) (Chosen option)
x=2,y=-1
B)O x=2,y=1
x=2,y=1
€O 1 .
XK= —, ¥=-
3 ¥y
' 1
x = —_— & =
3 ¥
(D)O x=-2,y=-1
x=-2,y=-1
Question No.2 Marks: 1.00
Bookmark
Find the median of the following numbers:
3,5,0,4,9,7,6,2,8,?
fafefad sl ot i J1d Fifow:
3,5,0,4,9,7,6,2,8,?
(A) O 5 (Correct Answer) (Chosen option)
5
B)O 4
4
(©)O 9
9
(D)O 6
6
Question No.3 Marks: 1.00
Bookmark

In the figure AODC~AOBA, find #0AB.

« D C "

-+ = &
120°

i 4 B -

== H, AODC~AOBA 2, Z0ARB 919 %I

-+ D C .
50
120°
(A) O 750
750
(B) O 60°
60°
O
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(C)  45° (Correct Answer) (Chosen option)
45°
(D) O s50
55°
Question No.4 Marks: 1.00
Bookmark
Three line segments are drawn by joining any two of the points A(-1,3), B(-2,1), and
C(-5,-1). How many of them are intersected by the y-axis?
A(-1,3), B(-2,1), 3R C(-5,-1) & forit oft Y farg it ! firamran <fi=1 Y Ws (qre S
g2 o €1 37 @ e y- are R U Rd 82
(A) O 1 (Chosen option)
1
B)O 3
3
(C) O 0 (Correct Answer)
0
(D) O 2
2
Question No.5 Marks: 1.00
Bookmark
In a class test the sum of Gagan’s marks in Mathematics and English is 45 and his
marks in Mathematics were more than that in English. If he had 1 more mark in Maths
and 1 less in English, the product of marks would have been 500. Find the original
marks in Mathematics which Gagan scored?
TH D& T H, T SR SIS & 317 T & 3! BT 1T 45 § SR 7101 & ISP 3iep,
TS § S 3id § 31f U1 afe 98 A A 1 3idh Sifie SR 3RSl & 1 ofs 9 U
FRAT 7, Al 3BT BT OFHE 500 BRI | TR GRT TOMT H U e 3 JTd B2
(A) O 24 (Correct Answer) (Chosen option)
24
(B) O 19
19
(C) O 26
26
(D) O 21
21
Question No.6 Marks: 1.00
Bookmark
x b b b
Hai=lyg x blanday= [x [:then which is CORRECT sinpng the followitg?
@2 a X e
x b b b ;
o ar=la x bl Iar=[F |2 FraRREd & ¥ Sww 7@ e 7
2 @& X
A1=3 (ﬂ:—}z
B)O | 4 .
o (A,) = 3A, |(Correct Answer) (Chosen option)
d
& (4,) = 34,
(€)O
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Ap =3 (A2)
A =3 (A2)

OO 4o

d
a (ﬂ'ij = "5"23

Question No.7 Marks: 1.00
Bookmark

Ifa,b. cisin HP, evaluate z ?

a—hb
b—e¢

TG a, b, c, GUHS A0 H & &I Hedihd H1?

U"|n U"||:1

a
b
a
b

(Correct Answer) (Chosen option)

Question No.8 Marks: 1.00
Bookmark
How many multiples of 4 lies between 50 and 2507
50 3R 250 & &9 4 F T U BId 82
(A) O 49 (Chosen option)
49
(B) O 50 (Correct Answer)
50
(C)O 48
48

(D) O 51
51

Question No.9 Marks: 1.00
Bookmark

If (-5) is a root of the quadratic 2x2 + px — 15 = 0 and the quadratic equation p(x2 +x)+k
= 0 has equal roots, then find the values of p and k ?

e (-5), fgamd 2x2 + px — 15 = 0 BT U A © 3R feord BT p(x2 + x ) +k = 0 H
THH a1 8, 1 p 3R k & A T PIfoe?

A
(A) O p=6;k=§
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5
p=6:k =z

® 0 p=7:k =£ (Correct Answer) (Chosen option)
p=7:k =£

C
€O =ik zz
p=5:k =z
GO .- i
p=3:k =£
Question No.10 Marks: 1.00

Bookmark
A policeman is chasing a thief and runs five steps in the same time as the thief runs
three steps. Also, two steps of the policeman are equal to three steps of the thief.
Compare the ratio of the speeds of the policeman and the thief.

TH Yl T TR BT UIST &R 8T § IR ST Y 98 Uid HeH Iadl § SIaid IR di
HeH IadT g | 1Y BT, YRS H & &l HeH, IR & diF HeHl & aRIeR ¢ | GaadmH! 3R IR
D1 ATl b SAIATd DI T R
(A) O 56
5:6
(B) O 10:9 (Chosen option)
10:9
(C)O 6:5
6:5
(D) O 5:2 (Correct Answer)
5:2

Question No.11 Marks: 1.00

Bookmark
At what percent per annum compound interest will Rs. 5000 amount to Rs. 5832 in 2
years?

5000 U TR Ufd I T aTal Tehgfa &Ts faba Ufa=rd g fob &=RIfRT 2 a1 o 5832
¥ gl SL?
(A) O 4%
4%
(B) O 8% (Correct Answer) (Chosen option)
8%
(C) O 10%
10%
(D) O 5%
5%

Question No.12 Marks: 1.00

Bookmark
A tangent PQ at a point of a circle of radius 5 cm meets a line through the center O at a
point Q so that OQ= 13cm. Find the length PQ?
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a1 5 911 970 U 9 & U foig IR U WRRAET PQ, $% O & H1999 9 T fig Q W U&
X1 ¥ et 8 difes 0Q = 13 It g1 S| deETE PQ F1d Sifo?

(A) O 15cm

15 JHt
(B) O 14cm (Chosen option)
14 9wt
(C) O 12cm (Correct Answer)
12 It
(D) O 13cm
13 94t
Question No.13 Marks: 1.00
Bookmark
Let the perimeter of a circle is P. If its radius is doubled, then the new perimeter will be:
IS U g7 &1 uRfY P 81 3FR 34! Biear S 8 sett, at =15 ulfar gt
(A)O P
P
(B) O 4P (Chosen option)
4P
(C)O P2
P/2
(D) O 2P (Correct Answer)
2P
Question No.14 Marks: 1.00
Bookmark
Find the equation of a plane passing through the point (1, -1, 2 ) and parallel to the
plane 3x + 4y —5z=0 "7
&g (1, -1, 2) T BB ToRA aTdl Th JHAW 3R JAAW 3x + 4y - 5z = 0 P JHIR BT
FHIBRUT J1d HY?
(A) O 3x+4y-5z=2
3x+4y-5z=2
(B) O 3x +4y -5z + 11=0 (Correct Answer)
3x +4y -5z + 11=0
(C)O 3x+4y-5z=11
3x +4y -5z =11
(D) O 6x + 8y —10z =1 (Chosen option)
6x+8y—10z=1
Question No.15 Marks: 1.00
Bookmark

All the Kings, Queens and Aces are removed from a pack of 52 cards, The remaining
cards are well shuffled and then a card is drawn from it. Find the probability that the card
drawn is a black face card?
Tt STERIE, T SR Sab PI 52 HTST & U Udhe J gl el A1 8, AV HISf DI et
TRE § TreT I1dT § 3R R SUE J TP H1S Widl ol § | b1 T HTS Hrat B arell
HTS I, ST T WAl 82
(A) O 1/49

1/49
B) O 1/24

1/24

(C)O 1/30
1/30
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(D) O 1/20 (Correct Answer) (Chosen option)
1/20

Question No.16 Marks: 1.00
Bookmark

Find the sum of an Infinite G.P whose first term is 28 and the fourth term is 4% ?

U Jeld ANcaR AU &1 e AT HIfee foreeT ggel ug 28 ﬁBﬂTE’M‘FE{E:—g%‘?
AO 2
373

372
3
332
3
331
3
232
3

232
3

32% (Correct Answer) (Chosen option)

32

GENERAL SCIENCE - GENERAL SCIENCE

Question No.1 Marks: 1.00
Bookmark

Which of the following is a bactericidal antibiotic?
fafafed & § HH-a1 sharFRe teemies g2

(A) O Erythromycin
(B) O Tetracycline

(C) O Penicillin (Correct Answer) (Chosen option)

(D) O Chloramphenicol

Question No.2 Marks: 1.00
Bookmark

Two cars of masses m4 and my are moving in circles of radii r{ and ry . If their speeds
are such that they complete one revolution in the same time, then the ratio of their
angular speeds is:
my 3R m, THMT aTelt & HR rq 3R r, BT ara & Mal § go 3@ g1 afe 37 3
Za-t ¢ fb 3 U T sRTeR TG B [T BN 5, al 3! BV ATl b1 U &
(A) O 1:1 (Correct Answer) (Chosen option)

1:1

(B) O rqirp
rqirp

(C)O my:my
mq I Mmy
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(D) O myry:myry
mqrqimoro

Question No.3 Marks: 1.00

Bookmark
The uncertainty contained in the result of measurement by any measuring instrument is
called as

ot o T QU< RT H19 % GRome § AR e ifddr o e ST 2|

(A) O error (Correct Answer)

(B) O parallax (Chosen option)
[GLE

(C) O precision

(D) O accuracy
gyfar

Question No.4 Marks: 1.00

Bookmark
Defect in Feg 930 will be called defect.

Fe0_930 ﬁaﬁfﬁ Eﬁqwm|

(A) O metal deficiency (Correct Answer)
YT B HU

(B) O Schottky (Chosen option)

(©) O Fre\nkel
Thohd

(D) O metal excess

¢T BT SHferehl

Question No.5 Marks: 1.00

Bookmark
Which of the following do NOT produce agar-agar?
fafafed & ¥ SH-91 TURT (3FR-3R) I el Sl 872
(A) O Gracilaria
PIREIRE]]

(B) O Gelidium
Sfefean
(C) O Chilorella (Correct Answer) (Chosen option)

(D) O Pterocladia
SIERIER

Question No.6 Marks: 1.00

Bookmark
Which of the following is the lowest category of taxonomic hierarchy?

frofifaa § § SH-a1 ariferu, arffeor uersa ot Iad e Joft 82
(A) O Order
o
(B) O Genus
CE
(C) O Taxon
GEiE|

(D) O Species (Correct Answer) (Chosen option)
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St

Question No.7 Marks: 1.00

Bookmark
Which of the following is the primary acceptor of carbon dioxide during C5 cycle?

C3 TP P SR BT SISHRAZS BT Wit Wil Fufafad & § 19 22
(A) O Acetyl Co-enzyme (Chosen option)
BI-USsH
(B) O Citric acid
e e
(C) O RuBP (Correct Answer)

(D) O Phospho-enol pyruvate
B!

Question No.8 Marks: 1.00

Bookmark
The CORRECT relation for drift velocity(Vy) and electric current(i) is:

3{TATE AT (V) 3R faggd 4Ry (i) F forg ) Tey g
(A) O V4 =ineA (Chosen option)
V4 = ineA
(B) O i=VygA
i =Vg/A
(C) O i=VqAn
i=VqA/n
(D) O i=neAVy4 (Correct Answer)
i= neAVy

Question No.9 Marks: 1.00
Bookmark
Which alcohol is found in cough syrup as a component?
Tt Bt gars H DIH-97 3fchigd Uh e & =Y H U] STl 82
(A) O Methanol
BRI

(B) O Propan-1-ol
TO-1-3{Td
(C) O Butan-1-ol

SR1- 3

(D) O Ethanol (Correct Answer) (Chosen option)
ORI

Question No.10 Marks: 1.00

Bookmark
If the systolic pressure is 140 mm Hg and diastolic pressure is 90 mm Hg, the pulse
pressure would be:

gfe Rreifere TR 140 i) Taelt 3iR SrReifere U=R 90 ot weh €, df et g gh:
(A) O 230 mm Hg

230 fot Tt

(B) O 1.5 mm Hg (Chosen option)
1.5 foredt Tt

(C) O 12600 mm Hg
12600 Tt Tt

(D) ©O 50 mm Hg (Correct Answer)

50 fardY wersht
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Question No.11 Marks: 1.00
Bookmark
The net capacitances of three identical capacitors in series is 1uF . What will be their net
capacitance if connected in parallel?
Juiichr H FS i Uep-oid JuTRal ) g 1iRal 1y F 81 THFIRDH § 98 81 WR 3!
s YT fat gri?
(A) O 1uF
1u F
(B) O 3pF
3uF
(C) O 6uF (Chosen option)
6u F
(D) O 9pF (Correct Answer)
9u F

Question No.12 Marks: 1.00
Bookmark

In a chemical reaction A{g) — 2 B(g) . pressure of A{g) decreased from 20 bar to 16 bar in

10 seconds. What will be the rate of reaction?

TE (S AEET A(g) > 2 Blg) & AQ FH R 0 s A0SR &

16 g/ °c 17| TATHAT &1 & 47 grm?
(A) O 1.6 bar/sec
1.6 SRABTS
(B) O 0.2 bar/sec
0.2 IR/AHUS
(C) O 2bar/sec
2 IRIADHUS
(D) O 0.4 bar/sec (Correct Answer) (Chosen option)
0.4 9k

Question No.13 Marks: 1.00
Bookmark
How many hydrogen bonds are present between Guanine and Cytosine bases?

T 3R ZEIRA &R! & o9 fan g12gior d¢ IUfRYd 8ld 872

(A) O 2
2

(B) O 3 (Correct Answer) (Chosen option)
3

0
0
1
1

Question No.14 Marks: 1.00

Bookmark
The vitamin whose content increases following the conversion of milk into curd by lactic
acid bacteria is:

wﬁaﬁgﬁaﬁw,éﬁmﬁéﬁﬁmmgﬁraﬁﬁW%wa@aﬁ%
|
(A) O Vitamin D

faeif= D
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(B) O Vitamin B12 (Correct Answer)
B12
(C) O Vitamin C (Chosen option)
C
(D) O Vitamin A
faeriE A
Question No.15 Marks: 1.00
Bookmark
The green scum seen in the fresh water bodies is due to the presence of which of the
following?
gﬁfaﬁﬁaﬁrﬁﬁé@aﬁmsﬂﬁa 9 fFgfefad 7 @ feget SufRufa & SR g
?
(A) O Blue green algae (Correct Answer) (Chosen option)
e g
(B) O Red algae
NIERICIN
(C) O Fungus
Hddh
(D) O Brown algae
Sl
Question No.16 Marks: 1.00
Bookmark
Which reagent is used in Clemmensen reduction of carbonyl compounds?
HTEIA AMD &b FAH STag § o ifidtics o1 U fha SirdT 82
(A) O NoH4+ KOH + ethylene glycol + heat (Chosen option)
N,H,4 + KOH + T Targehid + 38T
(B) O Ag-Hg + HCI
Ag-Hg + HCI
(C) O Zn-Hg + HCI (Correct Answer)
Zn-Hg + HCI
(D) O cu?* + NaOH
Cu?* + NaOH
Question No.17 Marks: 1.00
Bookmark
If ‘n’ is the number of turns per unit length of a long solenoid, its magnetic field is given
by:
e T Al URATIDT BT Ui THich TiaTs IR gHIG! &1 6 ‘n’ ©, 1 39% d1d & &l
$HP GRI a1 91 &:
(A) O
B=p,nl (Correct Answer)
B=p,nl
B) O
e
Ko
_nl
Ly
C
(©) O BE= Holt (Chosen option)
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gl
B=E5—
1
(D) O B=nl
B =nl

GENERAL APTITUDE - GENERAL APTITUDE

Question No.1 Marks: 1.00
Bookmark
If the code of ELEPHANT is FMFQIBOU, then what is the code of ACMPNOLT?
Ife ELEPHANT &1 ®1s FMFQIBOU &, dl ACMPNOLT &1 &S 3T 872
(A) O DBMUPOQN
DBMUPOQN
(B) O UMPOQNDB
UMPOQNDB

(C) O DBNQOPMU
DBNQOPMU

(D) © BDNQOPMU (Correct Answer) (Chosen option)
BDNQOPMU

Question No.2 Marks: 1.00

Bookmark
The income of A and B are in the ratio 3:2 and their expenses are in the ratio 5:3. If both
save Rs.200. What is the income of A.

A 3R B &1 319 3:2 & UId & § 3R I W 5:3 % J0Td § ¢ | IS IH 200 FUY &
I B | A A B 3T R 52
(A) O Rs.800
800 »UU¢
(B) O Rs.2,000
2,000 ¥4u
(C) O Rs.1,200 (Correct Answer) (Chosen option)
1,200 ¥UU¢
(D) O Rs.1,600
1,600 ¥UTQ

Question No.3 Marks: 1.00
Bookmark
8%of20and7 % of 35addupto .
20 BT 8% MR 35 BT 7% BT ANT gl
(A) O 5.50
5.50
(B) O 7.50
7.50

(C) O 4.05 (Correct Answer) (Chosen option)
4.05

(D) O 6.05
6.05

Question No.4 Marks: 1.00

Bookmark
A and B complete a work in 10 hours. B and C complete the same work in 9 hours. But
C only takes 18 hours. What is the time taken by B to complete the work?

A 3R B TH B I 10 ¢ H R HA ¢ | B 3R C I S &I 9 6 H W g | Afdh C
H Had 18 G A & | BT R HRA & o B gRT foram mar a9 «m 82
(A) O 18 ;%urs (Correct Answer) (Chosen option)

18

(B) O 10 hours
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10 9

(C) O 20 hours
20 H¢

(D) O 15 hours
15 ©c

Question No.5 Marks: 1.00

Bookmark
The ratio of a man’s age and his son’s age is 6:3 respectively and the product of their
ages is 648. The ratio of their ages after 6 years will be:
TH ATCH DI 3T BT I T DI 3G F U HH: 6:3 § 3R P! 3T HT UG
648 §1 6 Y & F1G ID! 3T BT SIATd GHTI;
(A)O 4:7
27
: 4 (Correct Answer) (Chosen option)
4

(B) O
(€)O

(D) O

OO0 OO0 NN MDD
a0 OO

Question No.6 Marks: 1.00

Bookmark
Complete the series choosing the missing number:
2,15,41,80, _ .

T AT HT I B gU S DI TR B
2,15,41,80, .
(A) O 132 (Correct Answer) (Chosen option)
132
(B) O 133
133
(C)O 134
134
(D) O 135
135

Question No.7 Marks: 1.00
Bookmark
A man buys a certain commodity from two shops. He pays Rs.50 for 2 kg at one shop

and Rs.70 for 3 kg at the other shop. The average price ( Rupees per kg ) of the
commodity is:

T e &l gaMI 9 Ue Mid a¥g Tiiedl ¢ | 98 Th g WR 2 foral & faw 50 F9T SR
%?ﬂu?sW%ﬁm 70 TT BT YT HT & | I B! 39d HIAd (IUY Ui
)G

(A) O 24 (Correct Answer) (Chosen option)
24

B)O 5
5

(C)O 60
60

(D) O 12
12

Question No.8 Marks: 1.00

Bookmark
The average age of a father and his son is 48 years. The ratio of their ages is 7:5
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respectively. What is the son’s age?
TS OdT 3R ISP o P I TG 48 TV g | ID! 3T BT AT HH: 7:5 81 I P
3T T 82
(A) O 38years
38 Y
(B) O 42 years
42 94
(C) O 40 years (Correct Answer) (Chosen option)
40 ¢
(D) O 44 years
44 a9

Question No.9 Marks: 1.00

Bookmark
The upstream speed of a boat is 42 km/h and the speed of the boat in still water is 54
km/h. What is the downstream speed of the boat?

U =1 o1 ufauarg ard 42 fHHi/eer § 3R fRRR ur # A1 &1 a1dt 54 fHHiger g1 g &t

3{IVATE AT T 2
(A) O 66 km/h (Correct Answer)
66 fordiraer

(B) O 30 km/h
30 foHi/der

(C) O 49 km/h (Chosen option)
49 foputreier

(D) O 7 km/h
7 fHider

Question No.10 Marks: 1.00
Bookmark

z nijquz,ﬁa xﬁu_?-m
gu—S,n"E Xu3}"2

Jifa=4.

Simplify

, I B
2al/2%q2/3 wpa~7
gu—E,-"S xuﬁf’z

(A) O 1/4
1/4

(B) O 1/3 (Correct Answer) (Chosen option)
1/3

(C)O 2713
2/3

(D) O 1/2
112

;Sﬁw #, afc a=4 gI

Question No.11 Marks: 1.00

Bookmark
If in a certain code 54713 is written as ABCDE and 8962 as TSYB, then how will 18675
be written in the same code?

Ife T FAfYd BIS H, 54713 B ABCDE & U H 3R 8962 I TSYB & =0 H foram Srdn
2, Al GHM BIS H 18675 I B forar S
(A) O ATDCY
ATDCY
(B) O YCATD
YCATD

(C) O DTYCA (Correct Answer) (Chosen option)
DTYCA
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(D) O DCYTA
DCYTA

Question No.12 Marks: 1.00
Bookmark
The cost price of 12 articles is the same as the sale price of 8 articles. What is the profit
percent?
12 Tg37 &1 T Ted, 8 TSN & Aok T & SRIeR & | A1 Tifar=rd om g2
A) O 25%
25%
(B) O 40%
40%
(C)O 45%
45%
(D) O 50% (Correct Answer) (Chosen option)
50%

Question No.13 Marks: 1.00
Bookmark
A basket contains 6 brown, 5 black, 5 white, 4 red balls. If 2 balls are drawn at random
from the basket. What is the probability that both are brown?
TP BT | 6 Y, 5 PIall, 5 Ghe 31R 4 A T 1 ic gl &1 afe 2 7S B | Trefessd
w0 ¥ ATl ot €1 o . wilidsdr & fob @ 71 o3 82
(A) O 38/3
38/3

(B) O 28/3
28/3

(C) O 3/28
3/28

(D) O 3/38 (Correct Answer) (Chosen option)
3/38

Question No.14 Marks: 1.00
Bookmark

Complete the series choosing the missing letter/s:
z L _,JVHTEF _ ,

T 31&R/31ERT BT T HRd gU YT DI T e
ZL_ JVHTF __, _ .
(A) O DXR
DXR
(B) O XRD (Correct Answer) (Chosen option)
XRD
(C) O DRX
DRX
(D) O RXD
RXD

Question No.15 Marks: 1.00
Bookmark
Ramesh purchased a car for Rs. 7,50,000 and sold it for Rs. 8,00,000. What is the
percent profit he made on the car?

A 7 7,50,000 FUT H U HR WIIET 3R 39 8,00,000 3T H 9 faaT| R R I favam
U= Y g3 82
(A) O 6.66% (Correct Answer) (Chosen option)

6.66%

(B) O 7.66%
7.66%
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(C) O 5.66%
5.66%

(D) O 4.66%
4.66%

Question No.16 Marks: 1.00

Bookmark
The series given below contains a sequence of numbers. Accordingly identify the
INCORRECT combination.
9, 20, 43, 89, 185

I < TS g § Seeht &1 Ud SIhH ¢ | daIuR Tad are & ugdH oy |
9, 20, 43, 89, 185
(A) O 43
43
(B) O 185 (Chosen option)
185
(C) O 89 (Correct Answer)
89

(D) O 20
20

Question No.17 Marks: 1.00

Bookmark
Find the average of the following set of numbers:
233,62, 124, 352, 519

frafafea Jemsi & Jc & Sid BI J1d B
233, 62, 124, 352, 519
(A) O 257
257
(B) O 262
262
(C) O 258 (Correct Answer) (Chosen option)
258
(D) O 260
260

RAEO - RAEO

Question No.1 Marks: 1.00

Bookmark
Which of the following is the most important factor that determines storage life of seed?

fafifed & ¥ SH-91 e Te@qul $R § SN &l & HSRU Sitad o1 Refid w82
(A) O Nutrient

(B) O Relative humidity (Correct Answer) (Chosen option)

(C) O Shape
SThR
(D) O Size

SMpid

Question No.2 Marks: 1.00
Bookmark

The pesticide solution requirement of a sprayer is 100 lit/ha. The sprayer can be
classified under .
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Th BRR & PICAIIS [qaa B SHTa=gerdl 100 Tex/ gHeR & | BRR B
¥ dgd aifferd fara o et ]
(A) O low vglume sprayer (Correct Answer) (Chosen option)
TS afegd TR
(B) O high volume sprayer
T3 alegH TR
(C) O ultra-low volume sprayer
3fegl-al dlegd VR
(D) O hand automizer

Bl

Question No.3 Marks: 1.00
Bookmark
sector is the backbone of Indian economy.
&, HRAN SRiaRT &t 3G B
(A) O Financial
foirg

(B) O Agriculture (Correct Answer) (Chosen option)
(C) O Tourism
BULE]

(D) O Service
Jar

Question No.4 Marks: 1.00
Bookmark
Which of the following portal is used for online electronic trading of agricultural
commodities?

ﬁgﬁﬁ%&ﬁmsd A AR & e FafaRad & ¥ fod gaica &1 3uai fear
Sa1 872

(A) O RWBCIS
RWBCIS

(B) O PMKVY
PMKVY

(C) O PMFBY
PMFBY

(D) O eNAM (Correct Answer) (Chosen option)
eNAM

Question No.5 Marks: 1.00
Bookmark
Average moisture content in dried vegetables is:
Tt wfesrat & a4t 8t B
(A) O 3-5% (Correct Answer)
3-5%
(B) O 16-20% (Chosen option)
16-20%
(C) O 10-12%
10-12%
(D) O 13-15%
13-15%

Question No.6 Marks: 1.00
Bookmark
Inability of a hybrid to produce viable offspring is known as:

Siaer (aUse) GaTl Bl Ss P PI Ueb Geb< bl A& Bl b TG & ST STl &

mppeb_kkkv.onlineregistrationform.org:8660/QP1/eTwogTY SaJ54Wze+A6kleQ==.html 29/53



https://applink.adda247.com/d/XhqWf9lSap

Adda247

2/17/2021 View Question Paper
(A) O Hybrid vigour (Chosen option)
RERECIE
(B) O Hybrid inviability
HHR STI&HT
(C) O Hybrid breakdown
HHY HITfADR
(D) O I-[ybrid sterility (Correct Answer)
JHY

Question No.7 Marks: 1.00

Bookmark
Watershed is:

FIeRTIS Il &
(A) O A water body
T o Hbrg

(B) O An area of land that drains into a common point (lake/river/stream)
(Correct Answer) (Chosen option)

Yfl &1 T &7 o U I g Ehamdlurn) d 9 ST g
(C) O A water park
TS UM Ul

(D) O A place to store water
U1 D1 HSTRA B Bt o118

Question No.8 Marks: 1.00

Bookmark
Which of the following agency is responsible for procurement, storage and transportation
of food grain production in India?

YRA H G IdTed B TRIe, HSRU 3R IRag o FafeRad # 9 oH- Toidt
STRER 87
(A) O Tribal Cooperative Marketing Development Federation of India
3ffeareft g fauur fdery Tg HRd
(B) O Food Corporation of India (Correct Answer) (Chosen option)
YR @reI e
(C) O Ministry of Agriculture
DY HATTT
(D) O National Agricultural Cooperative Marketing Federation of India

YR AT 1Y FebRT fAuur e
Question No.9 Marks: 1.00
Bookmark
In C4 plant, the first stable product of photosynthesis is:
C, Oteit &, TehT=T T=TTUT BT Ugell FRR IS 3:
(A) O Tartaric Acid
ST
(B) O Malic Acid
Afeiep 3
(C) O Oxaloacetic Acid (Correct Answer) (Chosen option)
S+
(D) O Coumaric Acid
DRSS
Question No.10 Marks: 1.00
Bookmark

What is the capacity of High-volume Sprayer?
3-UH FeRE (BIAR) Pt &Hdl ol 82
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(A) O Less than 400 litres/hac
400 AIC/GHIR Y HH
(B) O More than 400 litres/hac (Correct Answer) (Chosen option)
400 ARFFRW A AUH
(C) O More than 1000 litres/hac
1000 SHC/EHI I 31feh

(D) O Less than 5spray/hac

5 WI/RFCIR Y HH

Question No.11 Marks: 1.00

Bookmark
Which of the following essential amino acid is deficient in Rice?

Iad # Fefafad #§ ¥ $19-8 rawgs ! TRis o1 HH! gl 872
(A) O Glycine
TS

(B) O Alanine
&R

(C) O Lysine (Correct Answer) (Chosen option)

(D) O lIsoleucine

Question No.12 Marks: 1.00

Bookmark
In India Lab to Land programme was started in the year

YR & 9 ¢ ds HRIHT a9 T R fordT T T |
(A) O 1951

1951
(B) O 1947

1947

(C) O 1979 (Correct Answer) (Chosen option)
1979

(D) O 1976
1976

Question No.13 Marks: 1.00

Bookmark
The sprayer mainly used for spraying fruit trees in orchards is:

I H &7 U § Bl & Us! R [$8H1a & forg TR BT ITANT a1 ST B
A) O Knapsaélé:éprayer

(B) O Rocker sprayer (Correct Answer)
RTHY TR
(C) O Ultra-low volume sprayer
3fegl-ell dfegH TWIRR
(D) O Hand sprayer (Chosen option)
'S WRR

Question No.14 Marks: 1.00

Bookmark
Which one of the following principles is NOT applicable in Farm Management
Economics?
B Tee srefad A Fafifad § @ Si-a1 Rigid org 78 8 82
(A) O Law of Substitution
&1 gy
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(B) O Law of Equimarginal Returns

grIHid ufawd &1 a9 (@ o setmifclaa e
(C) O Law of Opportunity Cost

IR ANTd BT FaH

(D) O Law of Population (Correct Answer) (Chosen option)
ST BT fAaw

Question No.15 Marks: 1.00

Bookmark
Increase in atmospherlc concentration of causes acid rain.

& TRIHSHY Wdhgdl H gfg T i aw g1t 8|

(A) O COandCO,
CO 3R CO,
(B) ©O SO, and NO, or NO (Correct Answer) (Chosen option)
S0, 3R NO, TT NO
(C) © SOz and O3
SO, 3R 04
(D) © Ogzand O,
05 3R O,

Question No.16 Marks: 1.00

Bookmark
In India Farmer FIRST Programme (FFP) was launched intheyear

YRA # fraH B HHY (THUHYT) a9 ﬁg]g?%mww
(A) O 2008
2008

(B) O 2000 (Chosen option)
2000

(C) O 2019
2019

(D) O 2016 (Correct Answer)
2016

Question No.17 Marks: 1.00

Bookmark
Which of the following is the cause of Black Heart Potato?

fufafaa & § o w81 3T HT BRI 82

(A) O Oxygen deficiency (Correct Answer) (Chosen option)
STt Bt

(B) O Manganese deficiency

AT Bt Bt
(C) O Nitrogen deficiency

ASCIoH &I BT

(D) © Carbon deficiency
BTe DI HHT

Question No.18 Marks: 1.00

Bookmark
The World Trade Organization(WTQO) was formed in the year
3% TR W13 (ST HT T3 T o g Tl
(A) O 1993
1993

(B) O 1995 (Correct Answer) (Chosen option)
1995
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(C)O 1990
1990
(D) O 1996
1996

Question No.19 Marks: 1.00
Bookmark
Which one of the following is NOT correct?
froffaa & @ wiF-ar agt adi 82
(A) O Purchase pesticide in bulk for whole season. (Correct Answer) (Chosen
option)
R HoF & e 4o & Sleame @i
(B) O Purchase pesticides only from registered pesticide dealers having valid license.
Y A a1 USiipd Pl [AdRe! I gt BIe-Rd TRie |
(C) O Purchase pesticides well packed in containers.
3B TG A HeRI B UP BICARID! BT WRIG B
(D) O Never purchase without bill
fa1 foret & ot WHeRt 7 &

Question No.20 Marks: 1.00
Bookmark
Gregor Mendel experimented on hybrids.
TR Hed A THx TR yanT |
(A) O grass pea
U AKX

(B) O chickpea
Bl

(C) O cowpea
enfern
(D) O garden pea (Correct Answer) (Chosen option)
HRR

Question No.21 Marks: 1.00
Bookmark
Plants growing in shady region are referred as:
BAGR & H I ara el b & = & "ehiq far orar g1
(A) O %(r:iophytes (Correct Answer) (Chosen option)

(B) O Glycophytes
(C) O Halophytes

(D) O Hydrophytes

<

Question No.22 Marks: 1.00
Bookmark
Reamer is generally used to extract juice from .

IR BT ITTNT 317 IR WR J g A1 & o fear Srar g |
(A) O %%ple

(B) O guava
STH¥q

(C) O pineapple (Chosen option)
A
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(D) O orange (Correct Answer)

Question No.23 Marks: 1.00
Bookmark
Which one of the following is the full form of A T.M.A.?
frafaRed § 9 oH-91 T TH.U &1 90 9 52
(A) O Agricultural Technical Management Agency
TideR SHIGA Aodic Tor!

(B) O Agricultural Technology Management Association

(C) O Agricultural Technology Management Agency (Correct Answer) (Chosen
option)
THiweR TFTaret AR Tolddt

(D) O Agricultural Technology Mission Agency
Titdheer oIl R Toidt

Question No.24 Marks: 1.00

Bookmark
Whiptail in Cauliflower is due to deficiency of:

parh § fguea B! HH B PR B B
(A) O Zinc

ST (fSiep)
(B) O Potassium

(C) O Boron
SR

(D) O Molybdenum (Correct Answer) (Chosen option)
Aiferss—H

Question No.25 Marks: 1.00

Bookmark
Use of resistant varieties in the Integrated Pest Management is an example of
control.

THIgd Hic yaud H uforieh e o1 3T G101 &1 U IR B
(A) O legal
faferes
(B) O chemical
(C) O biological
S

(D) O genetic (Correct Answer) (Chosen option)

Question No.26 Marks: 1.00

Bookmark
About percent to India's GDP is contributed by the agriculture sector.

YRA & Gobdl Tl I<TS H qTHT fi=Id &1 HY &7 # IRTGH gidl 5|

(A) O 18 (Correct Answer) (Chosen option)
18

(B) O 45
45

(C)O 30
30

(D)O 10
10
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Question No.27 Marks: 1.00
Bookmark
A cross between wheat and produced a hybrid called Triticale.
g iR & ¥ Uh P A Cefehd ATHSD Udh gISIoS P IdIG bl
(A) O rice
Irad
(B) O maize
Hahl

(C) O barley
S

(D) O rye (Correct Answer) (Chosen option)

Question No.28 Marks: 1.00
Bookmark

Inherent capacity of soil to supply nutrient to plants in adequate and in suitable
proportion is called

el oY TG 3R U ST A Ui el @ Sl e 3 R it 1 ik e
G2l HET A 5|
(A) O soil fertility (Correct Answer) (Chosen option)
gt &Y Iawan
(B) O soil health
forgt &t 9ga
(C) O soil productivity
ot o1 IdTGdHdl
(D) O soil sickness

frg) 3 2

Question No.29 Marks: 1.00
Bookmark

The main components of watershed management are , and

TS TSE & I Uedh , 3R gl

A) O populatlon house management, biogas management
SRS, T8 UseH, SN ee

(B) O water, Iand biomass management (Correct Answer) (Chosen option)
T, YW, SRR YU

(C) O water, population, land

(D) O land, water, house management

Uil Sd, T8 Uy

Question No.30 Marks: 1.00
Bookmark

T & V system of Agriculture extension is a good example of:
FY IR Bt ¢t U ot oIl faraesT U 31T ITeR0l §
(A) O Compression approach
{f&eciiop U1 SUNTH (BRI YY)
(B) O Integrated development approach (Chosen option)
Thihd fdb JURTH (RIS SouHe THIH)
(C) O Extension approach (Correct Answer)
JURTH (TFHS R THIE)

(D) O Co- operatlve self-help approach
TEHRI W-TeTadl SUNH (P1-3Rfed Jeh ged TH)
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Question No.31 Marks: 1.00

Bookmark
The word “Agriculture” has been derived from word.

" Teq BT JT Yok A §s ©
(A) O Greek
(B) O Latin (Correct Answer) (Chosen option)
dfes
(C) O German
S

(D) O American
SARD

Question No.32 Marks: 1.00

Bookmark
Which of the following photosynthetic pigment is water soluble?

Fafafed § 9 -9 UeRT Uxave quie ur § faer 57
(A) O Phycobilin (Correct Answer)
(B) O Xanthophyll
SrRiiftre
(C) O Chlorophyll (Chosen option)
FIRIe

(D) O Carotenoid

HRACHTS

Question No.33 Marks: 1.00
Bookmark
How many chromosomes are in wheat (T. aestivum L.) haploid cells?
g (&, TaH Ta.) I BiRkiera § b U gl 2
(A) O 46
46
(B)O 23
23

(C) O 42
42

(D) O 21 (Correct Answer) (Chosen option)
21

Question No.34 Marks: 1.00

Bookmark
Catchment is a method of:

FaHc CARCACIRE]

(A) O Water harvesting (Correct Answer)
EGKERE]

(B) O Organic Agriculture
DD Py

(C) O Watershed (Chosen option)

(D) O Sail qonservation
Hal TR&ul

Question No.35 Marks: 1.00
Bookmark
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The repetitive growing of the same sole crop on the same land is referred as

W%@W@é‘fwaﬁ?ﬁmq@ﬁ & 0 A "efifd faar
SIGIE
(A) O Monoculture (Correct Answer)

(B) O Crop rotation
Y dh

(C) O Sole cropping (Chosen option)
Ve ShITUT

(D) O Multiple cropping
o

Question No.36 Marks: 1.00
Bookmark
is a major source of protein for our vegetarian people.

TR YRR A % o UidE &1 Ue TgE Wid g
(A) O Lentil (Correct Answer) (Chosen option)

qret
B) O Wheat

(C) O Rice
EICG)
(D) O Rapeseed

RUKIES

Question No.37 Marks: 1.00
Bookmark
According to the Union Ministry of Agriculture and Farmers’ Welfare (2020), which of the
following state has the highest certified area in organic farming?

Fea HiY Td fHam Heamr H1ay (2020) & AR, Fufafed # 3 farg Toa o Sfaw
T 7 T 3ifes i & 81 82
(A) O Maharashtra
HERTY
(B) O Madhya Pradesh (Correct Answer) (Chosen option)
e TS
(C) O Uttar Pradesh
JR U

(D) O Arunachal Pradesh
SRBUMIS USRI

Question No.38 Marks: 1.00
Bookmark
Which one of the following instruments is used to measure Solar Radiation?

frafafed 3 3 H-31 JuwhRur IR fafeor &1 11om & foe Iua e ST g2
(A) O Thermometer

YA
(B) O Pyranometer (Correct Answer) (Chosen option)

(C) O Anemometer

(D) O Barometer
RfteR

Question No.39 Marks: 1.00
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Bookmark
Under Pradhan Mantri FasalBima Yojana the premium interest % paid by farmer for
Kharif crops is

qwﬁw@mﬁw%&mwm%mﬁ?ﬂﬁmwﬁmwﬁm
Mo e ufawE, Rl
(A) O 5%
5%
(B) O 9%
9%
(C) O 2% (Correct Answer) (Chosen option)
2%
(D) O 10%
10%

Question No.40 Marks: 1.00

Bookmark
The induction of a plant's flowering process by exposure to the prolonged cold is known

as:
ﬁﬂ;ﬁﬁ&?é‘s’%ﬁﬁﬁﬂﬁ@tﬁﬁ%%ﬁaﬁmﬁ & &Y H o
SIS
(A) O Photoperiodism
BleuRafewH

(B) O Photosynthesis
cany

(C) O Phototropism

~

(D) O Vernalization (Correct Answer) (Chosen option)

Question No.41 Marks: 1.00

Bookmark
The value of nutrient index for medium or average fertility soil is

HeOw 1 3d I gt & forg dies Garehich bl A gl
(A) O 2.40-2.63
2.40 - 2.63

(B) O 2.70-2.83
2.70 - 2.83

(C) O 1.67 - 2.33 (Correct Answer) (Chosen option)
1.67 -2.33

(D) O 1.00-1.55
1.00 - 1.55

Question No.42 Marks: 1.00

Bookmark
All-weather phenomena occur in the zone of atmosphere.

Tt TR 1 e argHed & SiF o "fed gt g
(A) O ionosphere

(B) O troposphere (Correct Answer) (Chosen option)
eyrsa

(C) O thermosphere
YR IR

(D) O stratosphere
JHAY HSd

Question No.43 Marks: 1.00
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Bookmark
The certification mark employed on agricultural products in India is:

YRd # $iY Iare) W Faifd vHoE g g g:

(A) O AGMARK (Correct Answer) (Chosen option)
(B) O FPO

(©) O H\gllmark

(D) O ISl
CIHSE

Question No.44 Marks: 1.00
Bookmark
The area under micro-watershed is .
HISHI-areRS & ded &= AT 5|
(A) O 1-100ha
1-100 ha
(B) O 100 - 1,000 ha (Correct Answer) (Chosen option)
100 - 1,000 ha
(C) O 1,000 -10,000 ha
1,000 - 10,000 ha
(D) O 10,000 - 50, 000 ha
10,000 - 50, 000 ha

Question No.45 Marks: 1.00

Bookmark
is the most important element of learning situation.

3fATH @ fRUf &1 T He@yul d@ 3|
(A) O Learner (Correct Answer) (Chosen option)
gt
(B) O Study material
fRreror Jrsht
(C) O Teacher
fRrarep
(D) O Atmosphere
grdraruy

Question No.46 Marks: 1.00

Bookmark
Nira is prepared from .

BN J TR fHar S g1
(A) O apple
SE)

(B) O sweet orange
Hig TR

(C) O mango (Chosen option)
3H

(D) O coconut (Correct Answer)

Question No.47 Marks: 1.00

Bookmark
Ozone layer is present in:
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(A) O Stratosphere (Correct Answer) (Chosen option)
JHATY HSd
(B) O Thermosphere
SR AgHE
(C) O Troposphere
gired
(D) O Mesosphere
AYHSA

Question No.48 Marks: 1.00
Bookmark
Which of the following is the Apex body of Agriculture marketing?

frafafed & ¥ SH-a1 HY faguE &1 2y Fer (e areh 82

(A) O NAFED (Correct Answer) (Chosen option)
(B) O APEDA
(C) O ICAR

MEHITIR

(D) O ATMA

Question No.49 Marks: 1.00
Bookmark
Example of an essential mineral plant nutrient is:

Ueh 3MaLadh el Qe & b dedl T IeTe0l &
(A) O Carbon

GIEE
(B) O Nitrogen (Correct Answer) (Chosen option)
(C) O Hydrogen

(D) O Oxygen
KIESES

Question No.50 Marks: 1.00
Bookmark
A farmer having less than 1 ha irrigated land is a farmer.

1 gFCIR ¥ HH Rifd YfHr aren foa wew fPaH g |

(A) O marginal (Correct Answer) (Chosen option)

(B) O progressive
LGRS
(C) O small
Blel

(D) O big
EEl

Question No.51 Marks: 1.00
Bookmark
Optimum range of relative humidity (RH) conducive for crop growth and productivity is

waﬁq@&ﬁ?ﬂmaﬁn&wm(&mﬂﬁww
|

(A) O 80-90%
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80-90%
(B) O 40-60% (Correct Answer) (Chosen option)
40-60%
(C) O 25-35%
25-35%
(D) O 10-20%
10-20%

Question No.52 Marks: 1.00

Bookmark
The cross of an inbred line with an open pollinated variety is known as

TS Gl WA {6 & 1Y T 3d-USId IHH (3798 A1S) & AHBR (1) Pl
& =0 H T A 5|
(A) O three way cross
Aoy I (3 3 Hiv)
(B) O back cross
TY PR (9 1Y)
(C) O double cross
fg THR (S9d 1)
(D) O top cross (Correct Answer) (Chosen option)
i "R (e17 i)

Question No.53 Marks: 1.00

Bookmark
An important non-food of our country (India) is

AR 3 (YRA) BT TP Agaquf TR-HIoH Bl
(A) O lentil

qld
(B) O jute (Correct Answer) (Chosen option)

vIc
(C) O tea
I

(D) O wb/eat

Question No.54 Marks: 1.00

Bookmark
Which of the following is known as Flowering hormone?

fafafed & T fod qom (wamafi) g & U § ST ST 872
(A) O Cytokinin
(B) O Gibberellins
ISENKE]
(C) O Florigen (Correct Answer) (Chosen option)
A

(D) O Ethylene

Question No.55 Marks: 1.00

Bookmark
The other name of watershed is

IS T GORT ATH gl
(A) O drain
et

(B) O drainage basin (Correct Answer) (Chosen option)
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oo el aRE

(C) O pond
GINICH

(D) O river
4t

Question No.56 Marks: 1.00
Bookmark
Pesticides should be stored in a and area.

PICAID] B T 3R &= o TEld fasar ST =nfRu
(A) O dry, f;%

(B) O wet, cool
fia, 38
(C) O dry, cool (Correct Answer) (Chosen option)

(D) O wet,, hot
i, T

Question No.57 Marks: 1.00
Bookmark
In which of the following GIS, GPS and Remote sensing are used?

fFrafired & 4 fead sensed, sided 3R Rete Wi o1 Sudi fosar Sl 82
(A) O Organic agriculture

(B) O Shifting agriculture
RIFIR HiY
(C) O Conventional agriculture
RERAA HY
(D) O Precision agriculture (Correct Answer) (Chosen option)

TS T YTy FiY

Question No.58 Marks: 1.00
Bookmark
is known as Father of Extension in the Indian context.
B YRAG T § BIeR 3iTth TaRe A & =Y H o1 ST g1
(A) O K. N. Singh (Correct Answer) (Chosen option)
&.tA. Rig
(B) O M. S. Swaminathan
TH.0Y. WA
(C) O O.P. Gautam
3 ot |
(D) O S.R.Reddy
TY.3R. XS

Question No.59 Marks: 1.00

Bookmark
Plants growing under waterlogged soils have slow growth because of

e gt ) ST arel dvet A yeruddaRads
(A) O low carbon

(B) O low oxygen (Correct Answer) (Chosen option)

(C) O high carbon
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3 BIE

(D) O high oxygen
3

Question No.60 Marks: 1.00

Bookmark
Warfarin is an example of

HRA 1 T I&TERI g
A) O rpdenticide (Correct Answer)

(B) O herbicide
WRYAARATI

(C) O insecticide (Chosen option)

(D) O nematicide

R ATRR

Question No.61 Marks: 1.00

Bookmark
The leading method for commercial propagation of mango plants is:

3T & N} & ATTRS MO B o fafdr g &
(A) O Layering
GRIRT

(B) O Inarching (Correct Answer) (Chosen option)
g3MfHT
(C) O Cutting

(D) O Division
ISEISE!

Question No.62 Marks: 1.00
Bookmark

Neeranchal National Watershed Project (NNWP) is a World Bank assisted project
started in the year

WWW@W(NNWP)%%%@WWWW%@Hﬁ
A= g 8l
(A) O 2016 (Correct Answer)
2016
(B) O 2018
2018
(C) O 2010
2010
(D) O 2020 (Chosen option)
2020

Question No.63 Marks: 1.00

Bookmark
Catface is a physiological disorder of

FHehy P ISP HIB (pforaiaoed) fdeR g1
(A) O tomato (Correct Answer) (Chosen option)
CHIY
(B) O onion
sl
(C) O pea
AR
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(D) O brinjal

Question No.64 Marks: 1.00
Bookmark
Difference between price paid by the consumer and price received by the producer for
an equivalent quantity of farm produce is often termed as:

Wd B ST & SRISR T & [T SATEH GRT U DA 3R SUHIEI §RT YA &I T8
B & a1 3R B SRR Bl ol g
(A) O Price structure
e T
(B) O Price spread (Correct Answer) (Chosen option)
e A1Td 3ieR (A5 9 BIS)
(C) O Market performance
SR BT UG=H
(D) O Price ratio
YT ST (T R

Question No.65 Marks: 1.00
Bookmark
In which method of seed sowing, seed is managed to sown at required depth in a hole?
S 911 31 o fAfY , oo 1 T 8¢ H SHTa=de TexTs UR Il STl 872
(A) O Broadcasting
TR (STSHIRET)
(B) O Dibbling (Correct Answer) (Chosen option)
1Y | i1 (fEafem)
(C) O Behind local plough
R 89 & Ui

(D) O Line sowing

Ufgd 9u4 (@rg4 TiE)

Question No.66 Marks: 1.00
Bookmark
is a good absorbent material to use in case of a pesticide spill.

%—wmwmﬁmﬁwme@w 3BT XM AT
I
(A) O Cloth (Chosen option)

HUSI

B) O San.d (Correct Answer)
(C) O Sack
EIR]

(D) O Leather
gJHSI

Question No.67 Marks: 1.00
Bookmark
is an example of pulse crop.
T8 had B U IS 2|
(A) O Barley
St

(B) O Banana
&

(C) O Cotton
dU™
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(D) O Rajma (Correct Answer) (Chosen option)
RTSTHT

Question No.68 Marks: 1.00

Bookmark
Origin of Spemes by means of ‘Natural Selection' was proposed and provided by:

YT T & ATeaH Q YSfad! o1 Iafy Y & gRT URATad 3R UeH &t 718 ot
(A) O %ﬂg%del

(B) O Lamark
(C) O Linnaeus

ISIGERS]
(D) O Darwin (Correct Answer) (Chosen option)

Question No.69 Marks: 1.00

Bookmark
Which of the following is the first stage of erosion?

FAffed & ¥ DH-TT1 3URGH $T gl aR0T 52

(A) O Sheet erosion
Tie 3R

(B) O Rill erosion
e sroRe

(C) O Splash erosion (Correct Answer) (Chosen option)
P UG

(D) O Gully erosion
{ITICIT SURGA

Question No.70 Marks: 1.00

Bookmark
Conversion from nitrite to nitrate is done by bacteria.

rEerse ¥ ARee H Tuiavul SaIRAT gRT foha wrar g |
(A) O Nitrobacter (Correct Answer) (Chosen option)

(B) O Bacillus
CIRSR

(C) O Nitrosomonas

(D) O Rhizobium

RESIERE

Question No.71 Marks: 1.00

Bookmark
Thermocouple is used for the measurement of

YT Ud BT SUTNT % A &g foba S g |
(A) O soil matric potential (Chosen option)

forgt o6 Afgep erwren
(B) O leaf water potential

Tl 1 U B &
(C) O leaf temperature (Correct Answer)

CAGINLIE]

(D) O transpiration
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Question No.72 Marks: 1.00
Bookmark
What is the basic unit of soil classification?

e Fifferur Bt 4d 3hTs 1 82
(A) O Phase
R (%)
(B) O Family
$d
(C) O Order
T
(D) O Series (Correct Answer) (Chosen option)

e

Question No.73 Marks: 1.00
Bookmark
SIAET Is working as State Nodal Agency for Implementation of Agricultural Extension of

BIEIELE] & P [TR & HATaa & U Iod e Toidl & &9 &
BT IR 51 ¢
(A) O Madhya Pradesh (Correct Answer) (Chosen option)
qH UG
(B) O Himachal Pradesh
IREIEGRSEE
(C) O Uttar Pradesh
IR U=
(D) O Arunachal Pradesh
SRS U

Question No.74 Marks: 1.00
Bookmark
The hormone which induces and maintains seed dormancy is .
gagrqﬁﬁﬁaﬁﬁrﬁQWaﬁaﬁﬂm%eﬁwﬁwm%,ag glar
I
(A) O Ethylene

(B) O Gibberellins (GAs)
(GAs)

(C) O Cytokinin

(D) O Abscisic acid (ABA) (Correct Answer) (Chosen option)

uf¥rs (Tdie)

Question No.75 Marks: 1.00
Bookmark
Soil erosion control and soil binding can be done effectively by growing:

TeT 3R g0 3R et de & guTdt ¢ ¥ JTH faT o el & |
(A) O Maize
Hahl
(B) O Sugarcane
=T
(C) O Grasses (Correct Answer) (Chosen option)
™

(D) O Potato
SIeg,
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Question No.76 Marks: 1.00
Bookmark

In which of the following soil, Iron deficiency is prominent?
Profiiad 7§ fra it 3, A2 o) ot g 22
(A) O Neutral soil
Je fagt
(B) O Alkaline soil (Correct Answer)
&Rty fagt
(C) O Acid soil
3wty fargt
(D) O Water logged soil (Chosen option)
o R gs e

Question No.77 Marks: 1.00

Bookmark
In India cultivation of Durum Wheat is primarily confined to

YRA H SRH T (S3H 718) &1 Ol g7 U I JfFa g1
(A) O Madhya Pradesh (Correct Answer)
e U
(B) O Uttar Pradesh (Chosen option)
IR U&=
(C) O Bihar
fogR
(D) O Assam
Y

Question No.78 Marks: 1.00

Bookmark
The process by which plants use the length of light and darkness to regulate flowering is
known as:

gg ufshar forgds gRT Uiel & TaitaiaT o) fafafird o & oI Ut 3R 3R &t 3afd o1
I foar ST &
(A) O Photosynthesis

P CARIES]

(B) O Vernalization

(C) O Photoperiodism (Correct Answer) (Chosen option)

(D) O Phototropism

~

Question No.79 Marks: 1.00

Bookmark
Which of the following is the first step in genetic improvement of plant species?

frafafed & 9 & Uy venfadl & SMafie R & Ugdr 90l g2
(A) O Hybridization
PRI
(B) O Domestication (Correct Answer) (Chosen option)
WP (SHRTHIA)
(C) O Germplasm collection
TGS (STHwTSH) U8
(D) O Selection
I>gq

Question No.80 Marks: 1.00
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Bookmark
Which one of the following approaches in extension has got the highest intensity of
influence?

fowar o ffoiea o ¥ fg Iurm (Ui & uH1e & Iy digar fired 82
(A) O Individual approach (Correct Answer)
SUNH (SSifagjsra o)

(B) O Mass approach

S SUNTH (A1 THI)
(C) O Group approach

g JUNTH (U TIa)
(D) ©O Community approach (Chosen option)

T IUNTH (HHAE Ti)

Question No.81 Marks: 1.00
Bookmark

Which one of the following is considered as the safest insecticide for vegetables?
frafaiea & 3 frd afewrat & fo e QRI&A HleTie AT ST 872
(A) O BHC

(B) O Pyrethrin (Correct Answer) (Chosen option)

(C) O DDT
St

(D) O Heptachlor

Question No.82 Marks: 1.00
Bookmark
Which one of the following is the method of Mass Communication?
o & 3 BIH-3 R Ft fafr 82
(A) O Farm visit
&= YT
(B) O Group discussion
g T4
(C) O News paper (Correct Answer) (Chosen option)
HHR U
(D) O Demonstration

=g (feriezm)

Question No.83 Marks: 1.00
Bookmark
Which one of the following is an example of a CAM (Crassulacean Acid Metabolism)
plant?
fafafea & ¥ SH-a1 U ey (Fegaslt snd Iurgedh) Te &1 Uh ITER0T 82
(A) O Pineapple (Correct Answer) (Chosen option)
ST

(B) O Apple
9

(C) O Maize
Hahl

(D) © Mango
3H

Question No.84 Marks: 1.00
Bookmark
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Success of rural development project depends upon:
gt faeT aRaIeT &1 hadt fhd W AR a5t 6

(A) O Agriculture extension (Correct Answer) (Chosen option)

(B) ©O Amount of subsidy
N ECINIGISS S EARUE

(C) O Regular training of worker

FHried BT afia ufemr

(D) O Regular contact with worker

Hriddl 4 Fafid Judh B3

Question No.85 Marks: 1.00

Bookmark
A plant bearing both male and female flowers is known as:

T QT s TR 3R A1ET 241 B T € 39 1 & S0 B ST o7 |

(A) O Monoecious (Correct Answer) (Chosen option)
(B) O Hybrid
(C) O Polygamous

(D) O Dioecious

Upieimet

Question No.86 Marks: 1.00

Bookmark
What is the genetic purity of breeder seed?

Yo SISl I TR Yl T 82
(A) O 99%
99%
(B) O 95%
95%
(C) O 100% (Correct Answer) (Chosen option)
100%
(D) O 98%
98%

Question No.87 Marks: 1.00

Bookmark
Chemicals used for the purpose of killing rats are known as

gﬁﬁmmawmqmmaﬁmﬁw ¥ 0 o o
|

(A) O fungicides
HADBIRN

(B) O rodenticides (Correct Answer) (Chosen option)
Pdp

(C) O herbicides
EEE G

(D) O insecticides
CARSINED

Question No.88 Marks: 1.00

Bookmark
All the following practices promote erosion EXCEPT:

frafiad 9t enary sfuRe @ deTaT od & fRyar 3
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(A) O Cultivation along the slope
TAM WR Wil BT

(B) O Excessive grazing

(C) O Addition of organic matter (Correct Answer) (Chosen option)
UeTYf Y T BT
(D) O Burning of forests
STl b1 ST

Question No.89 Marks: 1.00

Bookmark
Main food crop for the Southern and Eastern states of India is

YR & 2ol oiR gdf wredt & fore e @ et gl |
(A) O rice (Correct Answer) (Chosen option)
EICGI

B) O wheat
TR

(C) O maize
HaDT

(D) O cassava
E3IG]

Question No.90 Marks: 1.00

Bookmark
Nitrogen fixer found in rice field and associated with Azolla is

SIS ¥ e 3R T1ad & & B UTaT T aTel Ao R =
(A) O Frankia

Thfaman
(B) O Spirulina

(C) O Anabaena (Correct Answer) (Chosen option)

(D) O Rhizobium

Question No.91 Marks: 1.00

Bookmark
ATP molecules are produced through aerobic respiration on oxidation of 1
molecule of glucose.

WWM’W$1 3] & SHTRITHU R WIADH 47 o A1e0H § I
|
(A) O 26-28
26-28
(B) O 16-18
16-18
(C) O 48-50
48-50

(D) O 36-38 (Correct Answer) (Chosen option)
36-38

Question No0.92 Marks: 1.00

Bookmark
is an important micro-nutrient.

% Hgayul Y&H UiNd I ¢ |
(A) O Potassium
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grefry

(B) O Calcium
CaruE

(C) O Zinc (Correct Answer) (Chosen option)
foiw

(D) O Nitrogen

~

Question No.93 Marks: 1.00
Bookmark
National Agricultural Insurance Scheme is launched in the year
IS B ST e, Iy A YE DR B
(A) O 2005
2005

(B) O 2007
2007

(C) O 1999 (Correct Answer) (Chosen option)
1999

(D) O 2000
2000

Question No.94 Marks: 1.00
Bookmark
is an example of plantation crop.

JRIYY HHd HI Th 3aeR0I 5|
(A) O Pigeon pea
3RER AT
(B) O Tea (Correct Answer) (Chosen option)
g
(C) O Rice
drad
(D) O Maize
Hadh]

Question No.95 Marks: 1.00
Bookmark
Removal of uniform thin layer of soil by the action of water is referred as:

gt Bt foham gRT gt &t Uea| Udel! tRd &1 8T 39 TSR o
(A) O Rill erosion

e SR
(B) O Splash erosion

IPR WRGT
(C) O Sheet erosion (Correct Answer) (Chosen option)

e 3R
(D) O Gully erosion

SR

Question No.96 Marks: 1.00
Bookmark
Soil fertility is reduced due to .

et 3t IRBa % HRU HH g1 o1l gl
(A) O ploughing

(B) O crop rotation
B b TAhIchRUl
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(C) O irrigation

(D) O imbalance use of fertilizers (Correct Answer) (Chosen option)

IATHI & SrAgfera SUART

Question No.97 Marks: 1.00
Bookmark
'Monsoon'is a/an word.
T Th IS 6
(A) O Greek
DD

(B) O Latin
dfest

(©) O Sanskrit

(D) O Arabic (Correct Answer) (Chosen option)

Question No.98 Marks: 1.00

Bookmark
is the most common and suitable medium for Orchid cultivation.

3ffdhe B Wil & forg T 3T 3R Iugad A1 g |
(A) O is_:nd

(B) O Soil
fogt

(C) O Brick chips plus wooden chips (Correct Answer)
3¢ ey w1 gl & s

(D) O Compost (Chosen option)
REI

Question No.99 Marks: 1.00

Bookmark
Indole-3-acetic acid is the most common naturally occurring plant hormone of
class.

‘%‘@ﬁﬂ-&mm 1 BT I 3MTH WIHTAS =0 I YT S aTell UieT 1A
|

(A) O Auxin (Correct Answer) (Chosen option)
CHENE]

(B) O Gibberellins
ISENKE]

(C) O Cytokinin

(D) O Abscisic acid
SifexaRie TRrs

Question No.100 Marks: 1.00

Bookmark
Which one of the following is the first maize hybrid of India?

fafeiad 7 9 S 4Rd &1 uged HawT TR 872
(A) O T\QJ;):/[

(B) O Ganga-101 (Correct Answer) (Chosen option)
T-101
(C) O Kisan
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oo
(D) O Vikram
fawy
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